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Consider the feedback control system. Skgtch the root locus and find the brggk-away and break-in
points. Also find the angle of departures from complex poles and angles.gfagivals to the complex
2

ZETOS, R
- Gh-ET“% i+ qu)z ©

Ris) i Cirng YT
_ ; i
Ll k(S

3 (st +4)

sCs +4)
- i
s +25+ &

where K =
Kis+1+ jHs+1—7}

G(.Y) = -
S0s 2005 — 20 -
4 3 2 3 2 S= ~2
%—.: S 4+4S 425 +B =0 H j“r(ibz)(s+?s-zs+4)=o$ g~ - 3.0
S <

Avofe f  orrivl 1 O - Ana of departure s 84 ° e

Lo~ 0851~ (8, 1r0 e (6,+ 6.+ & )-8+ 6] 180 6*4

&, -t ]

 Oa {40490+ 64]- [+ 3+1§1ctgo 8-

e 4

62 tBa= tan 3z + 45 11_

- | 8 = —“. 4 445 = \\6.4:' A
225 135 4 (80 44 3) Lo«

- [e‘o"“ Gq]: L§o

S e 0, = 366 -+03' 3

{eo.-: 230 - 4’3 = \98-60‘
N

We.a'




KING FAHD UNIVERSITY OF PETROLEUM & MINERALS
ELECTRICAL ENGINEERING DEPARTMENT

EE380 [081] SEC# 4 Quiz # 9

ID: Grade:

Name:

A mechanical system has the closed-loop transfer {unction given by
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Using the tool-lacus method. determine the value of the gain K so that the
closed-loop system has a damping factor £ = -
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